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���� B 

	
����� �� �������� ����� ������������ �� ������ 
��������������  Pascal: 
 
plithos:=0; 
sum:=0; 
x:=100; 

while x>5 do 

begin 

readln(y);  

plithos:=plithos+1; 

sum:=sum+y; 

x:=x div 2;  

   end; 

if  sum>80 then 

writeln( �����	
= �, plithos) 

else 

writeln( ����	
���= �, sum); 

 

B1. !� ����������� �� �����" #�������� ��� �����#�" ��� 
�� �������� ����� ������������ . 
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�2. !� $������%��� �� ��&��" ����� ������������ ��' 
��� #
�����, &�(������������ �(� ������ ������(%(� 
repeat-until ���
 �(� ������� ������(%(� while . 
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(http://edu.klimaka.gr)

# --- python2 ---
plithos = sum = 0
x = 100
while x>5:
    y = input()
    plithos += 1
    sum += y
    x = x / 2

if sum>80:
    print 'plithos = ', plithos
else:
    print 'athroisma = ', sum  

for


